Math 1090 ~ Business Algebra

Section 1.1 Linear Equations in One

Objectives:

* Simplify linear expressions.

* Solve linear equations.

» Express a rational equation as a li

* Translate a word problem into a




Vocabulary
A | ‘
equation g Lde VS expression / A ILQ O ,(,43,,,\“\_‘_

CompP

exdenca) a Collects of e

+\~oJD)< \-esss;e-ns of dlﬂ"b‘:’"‘ Yvms a +“"°’~3

Set tqual to <ac 2 Lom
TN X §.x +Sx+(,

€X Sx+3=2x-| W Stw\t\ifa €4<|>n-ss|‘av\:

"R Solve eqgns-

1dentity

an equation (ﬁtm)
s be fov all
Values of e variab balanced

(le. u¢ do not sdie (2. ¢S we Lk
An dantty becamse balance d Scales
it has e So\udw‘srns> we do “samq thing |

1o both Sides of -f
B beo p it balan @d"
v <‘§uivq‘u\+

equivalent equations

K e stant l'>/ « balana
$C4le,, w kuF Scale




Solve equations and simplify expressions

Ex 1: Solve
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Ex 3: Solve these rational equations by turning them into linear equations.
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Ex 4: Suppose a professor counts the final exam as being equal to each
of the other tests in her course, and she will also change the lowest test
score to match the final exam if that is higher. If a student's four test
scores are 83, 67, 52 and 90, what is the lowest score the student can earn
on the final exam and still obtain an 80 average for the course?
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Ex 5: Three less than 4 times a number is 25. What is the number?

X = the num ber
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Ex 6: The perimeter of a rectangle is 700 ft and the length of the
rectangle is four times as long as the width. Find the dimensions of

the rectangle.
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